Seat Upholstery

~ —~ )
Q -} L ]
(7 N <\ o [
(N VAN J
N ™
@ L L ) ] ®
R 7\
[ (a—)
= AN J
N [~ N
@ & ) (4 L]
e N [~ N
\ i Z
— (=]
-] ® ®
~ o/

R32 AND R51 (Before |1/15/02) R32 and R51 (After 11/14/02)
Seat Upholstery - Vinyl Seat Upholstery - Nylon

)

)

;\,'-:_',‘,
d

e

AL

o Y

r A
A A A AL
S N 4 B

e
o

Bk s % A

SRS

90 < 5\ g
Tk TR ea

T

T T I
e I

5

kit

=T
L),

P
(TN .‘3\1

1

~

P

ST

2 w4 X

Fy
oo

R32LX/R50LX/R5 ILX/R5ILXP
Seat Upholstery - Nylon



Seat Upholstery

Lightweight Vinyl Seat Upholstery

R32 and R51 (Before 11/15/02)

Chair Width 16" Depth 17" Depth 18" Depth
14" 8881018200-NLA 8881052296 8881052301-NLA
16" 8881016920-NLA 8881020690-NLA 8881023360-NLA
18" 8881016918-NLA 8881020691-NLA 8881023359-NLA
20" 8881019577-NLA 8881052300-NLA 8881052307-NLA

Note: When ordering, please specify U05 Black for Lightweight/Vinyl or U240 Black for Nylon Upholstery.

Nylon Seat Upholstery

R32 and R51 (After 11/14/02)

Chair Width 16" Depth 17" Depth 18" Depth
14" 8881057199-NLA 8881057206-NLA 8881057213-NLA
16" 1016321 1016322-NLA 1016323-NLA
See Note(s) A, A1 See Note(s) A, Al See Note(s) AL, A
18" 1016327 1016328 1016329
See Note(s) A, A1 See Note(s) A, A1 See Note(s) A, A1
20" 1017643 1017646-NLA 1017649
See Note(s) A, A1 See Note(s) AL, A See Note(s) A, A1

NOTE: A - After 2/2/16 Crossbrace and Seat Upholstery Holes were revised to a larger size. One hole was added per side and attaching

hardware Screw changed from (#10 x 7/8" Screw w/ Washer) to (#12 x 7/8" Screw).
Al - Wheelchairs manufactured Before 2/3/16 will require new Crossbraces, Seat Upholstery and (Hardware After 2/2/16) to be

ordered.

Note: When ordering, please specify U05 Black for Lightweight/Vinyl and U240 Black for Nylon Upholstery.




Seat Upholstery

Nylon Seat Upholstery

R32LX/R50LX/R51LX/R51LXP

Chair Width 16" Depth 17" Depth 18" Depth
14" 1016315 1016316-NLA 1016317-NLA
See Note(s) A, Al See Note(s) A1, A See Note(s) A, Al
16" 1016321 1016322-NLA 1016323-NLA
See Note(s) A, Al See Note(s) A, Al See Note(s) A, A1
18" 1016327 1016328 1016329
See Note(s) AL, A See Note(s) AL, A See Note(s) AL, A
20" 1017643 1017646-NLA 1017649

See Note(s) A, Al

See Note(s) AL, A

See Note(s) A1, A

NOTE:

hardware Screw changed from (#10 x 7/8" Screw w/ Washer) to (#12 x 7/8" Screw).
Al - Wheelchairs manufactured Before 2/3/16 will require new Crossbraces, Seat Upholstery and (Hardware After 2/2/16) to be

ordered.

Note: When a different material or color is needed, please see special SM-060831091250.

A - After 2/2/16 Crossbrace and Seat Upholstery Holes were revised to a larger size. One hole was added per side and attaching

Hardware for Seat Upholstery

Part Number

Description

16" Depth

Quantity Required

17"-18" Depth
Quantity Required

Single Pack Screw with

1076284 Washer (#10 x 7/8") 8 10
See Note(s) A Used Before 2/3/16
Multi Pack Screws with
1057950 Washers (#10 x 7/8™) 1 Pkg of 8 N/A
See Note(s) A Used Before 2/3/16
Multi Pack Screws with
1050393-NLA Washers (#10 x 7/8") N/A 1 Pkg of 10
See Note(s) A Used Before 2/3/16
Multi Pack Screws and
1054978 Washers (#12 x 7/8") 1 Pkg of 10 N/A
See Note(s) C,C1, B Used After 2/2/16
Multi Pack Screws and
1131378 Washers (#12 x 7/8") N/A 1 Pkg of 12

See Note(s) C1, B, C

Used After 2/2/16

NOTE:

A - Used Before 2/3/16.
B - Used After 2/2/16.

C - After 2/2/16 Crossbrace and Seat Upholstery Holes were revised to a larger size. One hole was added per side and attaching
hardware Screw changed from (#10 x 7/8" Screw w/ Washer) to (#12 x 7/8" Screw).
C1 - Wheelchairs manufactured Before 2/3/16 will require new Crossbraces, Seat Upholstery and (Hardware After 2/2/16) to be

ordered.




